www.konkur.in

I
> 609F

1Fee Jlom JB10 L gl wi ) ol 5 5100 599 (59558 (3903 T

Adgin oo Yol C8lom 2gds Mol SUBLLSLS S0

PV
M)LQ.?H M {o)) gnn olol

olpl ol o 3i0r
$a3bd g R agle ol

S oyl B slajle

‘ (VPP ) m i s I

AlBs Yo 1 o5 Fly Bke Mo 1 Jlguw Slan

S 5yl g luad o dlaol olge g

S et B | & lai 3 | Jlgew lies (el olge hray
Y. | Y- { g Sl) ool g cogae b ¥
i ™ ¥ ol 3 olpl 8 Jb Y
As & T (33559 5 2l adgl olge) )8 wdgd ¥
" AN v (o}l g SLaiBl . i g g o) 8 Sl ¥

i Sl Dl fele 31 salizal Byl e b yni fyge 3l ol

R R [ e R R e R 3 e R 3 e R R e R

R kA R [ R e e IR e R R kA R R RA A RA R

gt gl ity e g b U g A2, o e el i yaten b LS, Bt g oA ol aled ol ciyme 3T 5155 0 g omt (o P ) 5 gt 0 Wi Ly g5 gl v

forum.konkur.in



www.konkur.in

¥ s 609A OYFY) o8 = b

R C’S-BJT dndze 30 Losls yguiren pac A eds b Jader Giler joio jo Lasl g Glasln &8 pae (ol 5 cdbigls e

g 05 ohaiun Bylosd oarerlackly «Jol8 alET 1§ wovorciianiennsin csalbglo B bl s idloni!
JG Jf.d-' a8 3 EBJ ¢u5’!5.w d-"‘rj.é‘b 9 Mh@uh ‘SYLI d-w.L"b' 4 894 u)]-'l- 6'}".' J E_'J.Ju.n t_fn.ch].B aJLc.u.r Lf
mledgo anlh 1y plaoligunly oily 3 V1gw da i85 g9y p0ad

HgmertSil) (il 5 ogas

PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or {4} that best completes each sentence.
Then mark the correct choice on your answer sheet.

1-  The police only helieved me after an evewitness ----—---—- my account of the accident.
1) displaved 2) constituted 3) corroborated 4) suspected

2-  The plan is to our -—--—--—- advantage; we will all benefit greatly from it.
I} concurrent 2) mutual 3) devoted 4y involved

3-  Our organization is committed to pursuing its aims through peaceful ---------- . We totally
rejeet violenee as a means of political change.
1) mcans 2) instruments 3) devices 4) gadgcts

4- Al parents reccive a booklet which ------—--- the school’s aims and objectives before their
children start their first term.
1) clarilics 2) injects 3) conducts 4) notilics

3-  Increasing the state pension is a ---------- aim, but 1 don’t think the country can afford it.
1) redundant 2} diverse 3) flexible 47 laudable

6-  The primary aim in sumo wrestling is to knock your ---------- right out of the ring!
[} protagonist 2) opponent 3) reteree 4) beneficiary

7-  The cost of the damage caused by the oil --—--——-- will be around S200 million,
1) spill 2) guilt 3) demerit 4} extenl

8  Most of us - when we hear that many children spend more time watching TV
than they spend in school If's a rather scary thought.
1) withdraw 2) retreat 3] recoil 4 regress

9-  Even though he isn't enrolled right now, Calvin says he will go to college -----——---- 3
1) creatively 2) delicalely 3) sentimentally 4} cventually

10-  You should avoid driving during the snowstorm becausc the icy roads are --—---—--—-,
1) superlicial 2) Irigid 3) perilous 4) cautious

PART B: Cloze Test

hirections: Read the following passage and decide which choiee (1), (2), (3), or (4) best 1its cach
space. Then mark the correct choive on your answer sheet.

When it comes to visually identifving a work of art, there is no single set of values or
aesthetic traits. A Baroque painting will not necessarily (11) ---—------—- much with a
conlemporary perlomiance picee, but they are both considered art.
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(12} ———----—— th¢ scemingly indefinable nature ol art, there have always cexisted
certain formal guidelines for its aesthetic judgment and analysis. Formalism 15 a concept
in art theory (13) —--—-------- an artwork’s artistic value is determined solely by its form, or
the way (14) ——---—————_ Formalism cvaluates works on a purcly visual level, (13) --——--
medium and compositional elements as opposed to any reference to realism, context, or
content.
11- 1) share 2) be sharing 3) have shared 43 be shared
12- 1) Although 2) Despile 3) Regardless 4) However
13- 1)that 2) thatin it 3) which 4} in which
14- 1) of it made 2) made 3) how 1t is made 4) it is made
15- D)arc considered  2) considers 3) considering 4) and considcr

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the
best choice (1}, (2), (3), or (4). Then mark the correct choice on vour answer sheet.

PASSAGE 1:

The warp-weighted loom 1s a simple and ancient form oflcomin which
the warp yarns hang freely from a bhar supported by upright poles which can be placed
al a convenienl slant against a wall. Bundles of warp threads are tied 1o hanging
weights called loom weights which koep the threads taul. Evidence of the warp-
weighted loom appears in the Neolithic period in central Europe. It is depicted in
artifacts of Bronze Age Greece and was common throughout Europe, remaining in vse
in Scandinavia into modern times. The warp-weighted loom may have originated in
the Neolithic period. T'he earliest evidence of warp-weighted looms comes from sites
belonging to the Staréevo culture in modern Scrbia and Hungary and [rom laic
Neolithic sites in Switzerland. This loom was used in Ancient Greece. und spread
north and west throughouwt Lurope thercaller. It was extensively uscd in the north
among Scandinavian people. For yet unknown reasons, the warp-weighted loom
diminished in popularity and disappeared from common use. The arrival of
mechanized looms and industry may have contributed to this decline. [t remained in
use longest in Scandinavia: warp-weighied looms are stll in use on an isolated island
oll the coast of Norway and among the Sami ol Norway and Finland in the
1950s. Today, the warp-weighted loom 1s used as a hobby and 1n historic preservation
societies. The warp-weighted loom is used in a near-vertical position, and the fabric is
woven from the top of the loom toward the ground. This allows the weaver to walk
back-and-lorth while working, so thal wider cloth can be woven than is practical on a
ground loom, On Ancicnt Greek vase paintings, lwo weavers, most ollcn women, are
shown working side-by-side on the warp-weighted loom. This is unusual because most
other looms require a resting position of standing or sitting.
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According to the passage, the earliest evidence of two woman weavers working side-by-

side on the warp-weighted loom comes from --------——-,

1) ancient Greek vase paintings 2) the Starcevo culture in Serbia

3) isolaled islands o[l Finnish coast 4) hisloric preservalion sociclics

It is stated in the passage that the warp-weighted loom -------—-- A

1) originates in Greek Bronze Age 2) was widespread in Neolithic period
3) is cmployed in parts ol Europe 4) used (o be used in Starcéevo cullure
We may conclude from the passage that the warp-weighted loom is ---------- .

1) still a handicraft item in Sweden

2) found in muscuns in Castern Curope

3) taken as a hobby tool in Norway today

4) used to produce carpets by the Sami

We understand from the passage that the warp-weighted loom -----—----- i
I') was first used in ancient sites in today’s Switzerland

2) was in far longer use in Serbia than in Scandinavia

3)is still in common use in parts of Central Furope

4) spread from Southern FEurope to Ancient (ireece

The word *slant’ in the passage (underlined) is closest {0 -—-------,
1) ‘room’ 2) “angle” 3) “surlace’ 4) *oor’
PASSAGE 2:

The Mying shutile was one of the key developments in the indusiiialization ol weaving during
the early Industrial Revolution. It allowed a single weaver to weave much wider fabrics. and it
could be mechanized, allowing lor aulomatic machine looms. In a Ly pical Irance loom, as uscd
previous to the invention of the flying shuttle, the operator sat with the newly woven cloth
before him or her, using treadles or some other mechanism to raise and lower the heddles,
which opened the shed in the warp threads. The operalor then had o reach [orward while
holding the shurtle in one hand and pass this through the shed; the shuttle carried a bobbin for
the weft. The shuttle then had to be caught in the other hand, the shed closed. and
the beater pulled Torward 1o push the well into place, The [lving shullle cmploys a board,
called the ‘race.” which runs. side to side. along the front of the beater. forming a track on
which the shuttle runs. The lower threads of the shed rest on the track and the shuttle slides
over them, Al cach end of the race, there is a box which catches the shuttle at the end of its
Journey. and which contains a mechanism for propelling the shuttle on its return teip. The
shuttle itself has some subtle differences from the older tform. The ends ot the shuttle are
bullci-shaped and metal-capped, and the shuiile generally has rollers 1o reduce [iction. The
weft thread is made to exit from the end rather than the side, and the thread is stored on a pim,
a long, conical. one-ended. non-turning bobbin, to allow it to teed more easily.

The passage mentions that on a typical frame loom the weft was finally pushed into
place with a -—--—--—--—- ;

1) *heddle’ 2} ‘beater’ 3) *bobbin’ 4) “shuttle’

We may understand from the passage that the flving shuttle -—--—-—--——- "

1) has one one-ended and one non-turning bohbin

2) is not bullet-shaped so there is space Lor ils cap

3) has visible and invisible rollers (o reduce lriction

4) 1s not fundamentally different from its older form
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All of the following about the flying shuttle are correet EXCEPT that it —----mm--,

1) ended up 1n a universal mechanization of weaving

2) was an introduction to automatic machinc looms

3) allowed single-weaver weaving ol wider labrics

4) was developed in the carly Industrial Revolution

Which of the following about ‘the race’ mentioned in the passage (underlined) is not correct?
1) It moves along the front of the beater.  2) There is a box at each end it.

3) It moves on a vertical line. 4) The shuttle runs on its a track.

The word ‘treadle’ in the passage (underlined) is best related to --—--—--—-,

1) “button’ 2) “handl¢’ 3) “stick” 4) *pedal’

PASSAGE 3:

Inkle weaving is a type of warp-faced weaving where the shed is created by manually
raising or lowering  the warp varng, some o which are held in place by
[ixed heddles on a loom known as an inkle loom. A table-top inkle loom was patented
in the 1930s but inkle looms and weaving predate this by centuries. The term ‘Inkle’
simply means ‘ribbon’ or “tape’ and refers to any warp-faced woven good made on
any type of loom. from backstrap to box-looms. [nkle looms are constructed as floor-
standing and table-top models. The loom is characterized by a wooden framework
upon which dowels have been fastened. These dowels will hold the warp threads when
the loom has been dressed. One ol the dowels, or a paddle, 1s construcied so thal ils
position can be adjusted. This tensioning device will be taken in as weaving
conunences and the warp threads become shorter. Additional equipment includes yvarn
of the weaver's choice. yvarn or thread for forming heddles and a shuttle to hold the
weft. A notebook 15 also handy for charting weaving diagrams. ‘The inkle loom is
threaded with warp threads according 1o the weaver's design, aliernating between yarn
that can be raised and lowcered and yarn that is sceured in place through the use ol the
heddles. The raising and lowcering ol these warp threads creales the shed through
which the wett thread will be carried on a shuttle. Inkle bands are quite strong and can
be used in applications where a flat band is desired. Popular modern uses are guitar
and camera straps, or, for particularly narrow bands, colorful shoelaces. Traditionally
inkle weaving also served as belts and reins. Re-enactors use it as wim for garments
and other textiles.

All of the following about the Inkle loom are correct EXCEPT that it ----—-—--——--,
1) can be constructed as Moor-standing

2) is casicr 1o work with 1[1l 1s table-lop

3) uses warp threads 1o hold dowels in place

4) may have a notebook for weaving diagrams

It is stated in the passage that —-—--—--,

1) weaving is mefticient without a chart

2) Inkle can include weli-laced woven goods

3) Inkl¢ weaving can be donc on box-looms

4) table-top looms were a 1930s invention

forum.konkur.in



www.konkur.in

§ dois 609A OYFY) o8 = b

28-  All of the following abount [nkle weaving producis are correet EXCEPT thai they -——--—-- "
1) have served as helts and reins by tradition
2) ar¢ produced mainly by the uge of heddles
3) work as shoclaces, guitar and camera straps
4) arc uscd as (rim [or garments by re-cnaclors

29-  The passage deals with all the following as regards ‘inkle weaving® EXCEPT the -—---—----
of Inkle weaving.

1} ‘economy’ 2) ‘equipment’ 3) ‘process’ 4) *uses’
30- The word ‘dowel’ in the passage (underlined) is closest in shape to a -—-—--—--- .
1) “square’ 2) cube’ 3) “triungle’ 4) *evlinder’
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